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1. MosicHuTeIbHASA 3alIMCKA

1.1. AxTyanpbHOCTh MPOTrPaMMBbI

JlononHutenbHas obuiepa3BuBaomas nporpamMma «lIpakTuueckuil Kypc aHTIIMHCKOTO SI3bIKa
JUIS TIOATOTOBKH K chade MexayHapomHoro sk3amena [OEFLy» (manee — mporpamma) ummeer
COLIMAJIBHO-TIEJarOTUYECKY0 HAIPABJIECHHOCTh M PACCUMTaHA HA YAOBJIETBOPEHUE WHIMBHUIYAIbHBIX
MOTPEOHOCTEH JIF0/IeH B SI36IKOBOM OOIIICHUH.

B cBa3u ¢ pacmmpeHueM MeEXIYHapOJHBIX CBsA3€ BO BceX O00JIACTAX 4YelOoBEUYeCKOn
KU3ZHECSATCIIbHOCTH  (9KOHOMHYECKOM, TMOJMTUYECKOW, COLMAJIbHOW, KYyJIbTYPHOM) pacTyiien
TEHJICHIIMEH, CBSI3aHHOM C MpoIlleccaMy riIo0anu3aiii BO BCEM MUPE, SIBISIETCA CIIPOC Ha O0ydeHUe
MHOCTPAHHBIM SI3bIKaM. AKTYaJIbHOCTh TPOTPaMMbl COCTOUT B OTPAKEHUU COBPEMEHHBIX TPeOOBaHUIA
K 00Yy4eHHUIO, MPAKTUYECKOMY BIIAJICHUI0 MHOCTPAaHHBIMH A3BIKAMH JJIsl TIOCTYILJICHUS B 3apyOeKHbIE
KOJUICIKUA U YHUBEPCUTETHI, TPYJAO0YCTPOMCTBA U IMUTPALIUH.

[Tegarornyeckas 1enecooOpa3HOCTb MPOTrPaMMBbl 3aKJIFOUAETCS B COOTBETCTBUU MOCTABICHHBIX B
HeH 1eseld ¥ 3a1a9 TpeOOBaHUSAM JKEIAIOIINX MOyYUTh He0OX0IMMbIC HABBIKU BIIAJICHUS aHTJIHACKAM
S3BIKOM B TIpelielax COOTBETCTBYIOIIETO YPOBHS AJS CAayd MexayHaponHoro sk3ameHa TOEFL.
[Iporpamma mpeacTaBisier coOOM B3aUMOCBSI3aHHYIO CHCTEMY IIpoliecca OOyYeHHs] M €ro
o0ecrniedeHus, TOCTPOCHHYIO Ha OCHOBE ayTEHTUYHOTO CO/ICPIKAHMUS.

HoBuzna mporpaMmbl COCTOUT BO BBEICHMH COBPEMEHHOM TEMaTUKH M  JIEKCHKH,
ynoTpediasieMoll B MOBCEJHEBHOW pPAa3rOBOPHONM M NMUCHBMEHHOW peYd B aHTJIOS3BIYHBIX CTpaHax;
OOHOBJICHHBIX JUJAKTHYCCKHX MaTepUAIaX C YIETOM BO3MOXKHOCTHU ITOJTH30BAaHUS MHTEPAKTHBHBIMU
WHTEpPHET-pECYpCaMu; YBEIMUYEHHOM KOJIMYECTBE TBOPUECKUX 3aJaHUM.

JomonuuTenpHas oOmepa3BuBatomas nporpamma «lIpakTudeckuit Kypc aHTIMHUCKOTO SI3bIKA
JUIS TIOATOTOBKM K clade MexayHapoaHoro sk3ameHa TOEFL» cocraBieHa Ha ocHOBE y4eOHHMKOB:
Barron’s, TOEFL IBT; Check Your English Vocabulary for TOEFL, 4" edition; Cambridge
Preparation for the TOEFL Test, 4" edition

1.2.  Ilens u 3agauu NporpaMmbl

Ilenn oOy4eHus mo AONOJHMUTENBbHOH oOuiepa3zBuBaromieil mporpamme «lIpakTuueckuit kype
AHTJIMKACKOTO SI3BIKA JUISI TIOJTOTOBKM K c/ade MeXIyHapomHoro sk3amena TOEFL» - moctmxenme
CIIyIIAaTEIsIMM KOMMYHUKATHBHOM KOMIIETEHLIMM B INIPEJENax COOTBETCTBYIOLIErO YpPOBHS IUIA
YCTEITHOW cllaun MexayHapoHoro sk3amena TOEFL.

3ajayM OporpaMMbl — COBEPILIEHCTBOBAaTb HABBIKM ayJMpPOBAaHMs, YMEHHUS BBIICIATH
He0OX0IMMYI0 MH(POPMAIUIO U3 TEKCTa; MPOBOIUTH pabOTy HaJ HABBIKAMHM IPOCMOTPOBOTO UTEHHS,
OPOBOJIUTH paboOTy HaJX HEKOTOPhHIMH TpaMMAaTHYECKMMHU U JIEKCHYECKUMHU  SIBJICHUSIMU;
COBEpIICHCTBOBATh HABBIKM MHCbMEHHOI'O BBICKA3bIBAHUSA: HAIMCAHUS 3CCE, OMUCHIBAHUS TPapuKOB,
TabJIUL], PUCYHKOB.



1.3.  VYcnoBus peanuzanuu NporpaMmbl
JlanHasi mporpaMma InpeaHa3HaueHa Jjs B3pocioi aynutopuu (16 net u crapiie) - nuil, paHee
M3y4aBIIMX aHTJIMUACKUI S3bIK Ha ypoBHE Bbilie cpenHero (Upper-Intermediate) u paccunrtana Ha 50
aKaJeMHYECKHX 4acoB.
®opma 00yyeHus1 — OUHasI.
3aHatusi npoBoaATcs 1-5 pa3 B Hemeno 1o 2-3 akaJeMHYECKMX Yaca B Tpynmnax WU
uHAMBUAYyanbHO. [Ipu moctymiieHnn oOydaromuecs MpoXoaaT TECTHPOBAHHUE, IO UTOraM KOTOPOTO
MIPOMCXOJUT UX pacIpeie]IeHHE MO IPyIaM COOTBETCTBYIOLIETO YPOBHSI.
VY4eOHbI MpoLecC CTPOUTCS HA OCHOBE COBPEMEHHOM KOMMYHMKAaTUBHOM METOIMKH C
UCIOJIb30BaHUEM ayI0-, BUACOTEXHUKH, a TAKKE KOMITbIOTEPHOM MOIIEPKKH.
1.4.  Oxwunaemble pe3yabTaThl 00y4eHUs
B pesynbrare ocBOeHHS MpOrpaMMbl OOydYaromipecss Iody4aT HeoOXOIMMbIe HaBBIKU
ayAMpOBaHUSI C yMEHUEM BBIACIATH HEOOXOMUMYI0 WH(POpPMAIMI0O W3 TEKCTa; IOJydaT HAaBBIKU
MIPOCMOTPOBOTO YTEHHUS;, YCOBEPILIECHCTBYIOT HAaBBHIKM MHCHbMEHHOIO BBICKA3bIBAHMS JI HANHCAHUS
acce, onucanus Tabiui, rpaguKoB, PUCYHKOB; HAYYaTCsl BECTU JMUAIOT U PACIIUPSIT CBOM 3HAHUS T10
rpamMmMmaTuke, hopMaM CI0BOOOPA30BaHMS, MTOJIydaT MIPEICTABICHUS O PA3IMYHBIX CTUIISAX MMCbMEHHOMN
u yctHod peun. [lo OkOH4WaHMM Kypca CIlyIIaTelad MOPUOOPETYT TBEPAYIO OCHOBY Uil CAAYU
MexayHapoaHoro sk3amena TOEFL.



2. IIporpamma «IIpakTHyecKkuii Kypc aHIJIMIACKOro si3bIKa JJIS MOATOTOBKH K c/1avye
Me:KIyHapoaHoro sxk3amena TOEFLy»

2.1 Y4eOHO-TeMAaTHYECKUH IJIAH

KoauuecTBO 4acos,
Ne HanmeHnoBaHnue Tem Bcero B TOM 4ucJje
@ opMBbI KOHTPOJIS
n/n NMPOrpamMMbl Ak.4. | Teopus | IpakTuka
AK.4. AK.4.
1 OOuieHue. 2 1 1 KonTtponsHas pabora
IloBceHEeBHAS XKU3Hb.
2 Cewmbs u aetu. py3bs. 2 1 1 KonrponsHas pabora
Cocenu.
3 Pabora, kapbepa, 2 1 1 KonTtponsHas pabora
1po(IOArOTOBKA.
[TyremectBus. XKu3zub B 2 1 1
4 OO0JIBILIIOM TOpPOJIE U 3a IIpomesxkyTouHOE
TOpOAOM. TeCTHPOBaHHUE B
Murparusi. ¢opmare TOEFL
5 JlocTonpuMedareabHOCTH 2 1 1 KonTponbHas pabora
ropoja.
[IpoGnema okpyxatouieit 2 1 1 KonTponbnas padora
6 | cpensl. JIrogu u
*KuBOTHbIE. Knnumar.
Menumnuna. ['ennas 2 1 1 IIpome:xyTouHoe
7 | HHKEHEpHS. TeCcTHPOBaHHUE B
[Tcuxomorus. ¢opmare
TOEFL
3 Cropr. 2 1 1 KonTponbnas padora
9 CpenctBa MaccoBoi 2 1 1 KonTponbHas pabora
uHpOopMaluu.
10 buonornueckue yace 2 1 1 KontponbHas padota
OpraHu3zMa.
Uucna. Hudper. Jlator. 2 1 1 IIpomekyTouHOE
11 | densru. TeCTUPOBAHHE B
dopmate TOEFL
12 Ena (nmonesnas u 2 1 1 KonTtponbHas padora
BpenHas). Jluera.
13 Tpancnopr. 2 1 1 KonTtponbHas padora
14 Ob6pa3oBanue. N3yuenue 2 1 1 KonTtponbHas padora
AHTJIMICKOTO SI3BIKA.
15 Hayka u Texnomnorum. 2 1 1 KontponpHas padota
Kommnsiorep.
16 | 3ammra )KHBOTHBIX. 2 1 1 IIpomexyTouHoe




TeCTHPOBaHUE B
¢opmare TOEFL

17 Apxurekrypa. 2 1 1 KonTponbHas padora
[IpombIlIIIEHHOCTH U 2 1 1 Konrtponbnas padora
18 | cenbckoe X035HUCTBO
Texauveckue 2 1 1 IIpomexxyTouHoe
19 | uzoOperenwus. TeCTHPOBaHUE B
¢opmare TOEFL
20 [TpoGembr 2 1 1 Konrtponbnas padora
0€30MMaCHOCTH.
21 Onucanue MexaHusma u 2 1 1 KonTponpHas padora
KapThl.
VYrunusanus. 2 1 1 IIpomexyTouHoe
22 TeCTUPOBaHHE B
¢opmare TOEFL
23 I'mobanpHOE TTOTEIICHHE. 2 1 1 KonTponpHas padbora
24 Mys3sika. Teatp. Kuno. 2 1 1 KonTponbnas padora
o5 Hrorosoe 3anstue 2 Hroroswblii TecT B
¢popmare TOEFL
HToro 50 25 25




2.2 Kanennapublii yueOHbIi rpaguk nporpammsl «IIpakTnyeckuii kypc
AHTJIMICKOrO f13bIKA JIJIs MOATOTOBKH K CaUe MeKIYHAPOIHOI0 IK3aMeHa
TOEFL»

Pexxum 3ansTuil 2 paza B HeIeIO 1Mo 2 Jaca

Ne HaumeHoBaHue TeM Obuee Mecsittnt
n/n NMpOrpamMmbl KOIMHECTBO 112 |13|4]|5 6|7
JacoB
1 Oowenue, [ToBcenneBHas 2 2
JKU3Hb
2 | Cembs u getu. Jlpy3bsi. 2 2
3 | PabGora, kapbepa 2 2
4 [TyremecTBus. XuzHb B 2 2
0O0JIBIIIOM TOPOJIC
5 JlocTonpuMevaTeabHOCTH 2 2
ropoja
5 [IpoGnema okpyxarorieit 5 2
CpeIIbI
7 Mepununa. I'ennas 2 2
HHKCHEPUS
8 | Coopr 2 2
9 | CMU 2 2
10 | Buonoruueckue yachl 2 2
11 | Yucna. Hudpsl. Jdats 2 2
Ena (mone3nas u 2
12 2
BpenHas). Jluera
13 | Tpancnopr 2 2
14 O6pa3£)BaHHe. Nzyuenue 2 2
AHTJIMHACKOTO S3bIKA
15 | Hayka u TexHoJIoTUH 2 2
16 | 3ammra >KMBOTHBIX 2 2
17 | Apxurektypa 2 2
18 HpOMBII.HJ'ICHH(jCTB U 9 2
CEIBCKOE XO35HCTBO
19 TexHuyeckue 2 2
M300peTeHUS
20 [IpoGnembr 2 2
0e30IMacHOCTH
21 Onucanue MexaHu3Ma 1 2 2
KapThl
22 | Yrunmzanus 2 2
23 | I'moGanbHOE MOTEIIICHUE 2 2
24 | Mysbika. Tearp. Kuno. 2 2




‘ 25 ‘I/ITOFOBOG 3aHsITUE

2.3

Hroro: 50 akageMuuyecKux 4acoB

Conep:kanue nporpamMmmbl

«IIpakTH4ecKNi KypC aHTJIMICKOr0 SI3bIKA ISl OATOTOBKHU K MEXKIYHAPOAHOMY IK3aMeHY

TOEFL»
Ne i/ HauMenoBanue TeMbI Copep:xxaHue TeMbl

1 O61uenue. [loBcenneBnas | [loBTopeHue cucreMbl BpeMEH B aKTUBHOM U ITACCUBHOM
KHU3Hb 3asorax. [IpociyimmBanue 1uanoros ¢ BbleIEHUEM

HeoOxoauMoii nHpopmanuu. [IpaBuia Harmucanus scce.
CnoBa-CBS3KH.

2 Cembs 1 netu. Jlpy3bsi. UreHue: MpocCMOTPOBOE YTEHUE, KPATKUE OTBETHI, TOUCK

Cocenu. [loxunble T10AM | KIHOYEBBIX clloBOocoyeTaHui. ['0OBopeHue: npencTaBieHue,
MOHOJIOT, HHTEPBbIO. MIromMaTnyeckre BEIpaKeHUsI.

3 Pabota, kapbepa, dopMUpOBaHUE YMEHHUS COCTABIIATH TEKCT ONUCATEIBHOTO
npodeccuoHaIbHas xapakTepa 1o TeMe «JIMYHOCThY. AyAupOBaHUE: 3aI0THEHUE
HOJrOTOBKA TaOJIMIIbI, MHOKECTBEHHBIN BBIOOP B OTBETAX Ha BOIPOCHI.

[IpocmoTpoBoe urenue. ['oBopeHHe: BEIpa)keHUE MHEHUS,
apryMeHTalusl.

4 ITyremectBus. XKu3Hp B OTtpaboTka HOBOI1 JIEKCUKH B MPOIIECCE TOBOPEHUS,
00JIBIIIOM TOPOJIE U 32 aprymMeHTanus, npeamnonoxenue. IlnceMo: acce «3a» u
ropoaoM. Murpanus «IIPOTHUBY.

Pabora B hopmaTe sK3aMeHa.

) HocronpumeuarensHocTd | OTpabOTKa JEKCUKU IO TEME B MPOIIECCE ayIUPOBAHMSL.

ropoja Wnentudunuposanue teM auckyccuit. OtpaboTka
BOCTIPHUSITHS JICTATM3HPOBAHHOW HH(POPMAIIHH.

6 [IpobGnema oxpyxkaromein | OTpaboTka JeKCHUECKOro Matepuana mo teme. Pazpurue
cpensl. Jlrogu n HaBBIKOB aKaieMHU4eckoro uteHus. OTpaboTka TeXHUKU
xuBOTHBIE. [Torona u MIPOCMOTPOBOTO YTeHUs. [ OBOpeHHe: TPEHUPOBKA YMEHUS
KIIMMAT. BBIpA)KaTh CBOE€ MHEHHE.

7 Menununa. I'ennas OcBoeHne JNEKCUKHU TI0 TEME B MPOLECCE ayINPOBAHUSA,
WH)KEHEpUs. ICUXOJIOTHSL | YTE€HUs], TOBOpeHUsl. MHOXeCTBEHHBIN BBIOOD,

KJaccu(UKanus OTBETOB, CHHXPOHHOE 3aIMChIBAHNE.
Pabota B hopmaTe sK3aMeHa.

8 Cropt YcTHas M MUChMEHHAS IPAKTUKA B OMMMCAHWN BIICUATIICHHH,
CUMIIaTUl 1 npeanouTeHui. Onrcanue oTpuIaTeIbHOrO
omnbITa. AynupoBanue. Pabora Haj MPOU3HOLIEHUEM.
Hamnucanue occe.

9 CpenctBa MaccoBOM Nzyuenue hopm cioBooOpazoBanusi. AKTUBHU3ANNS JIEKCUKH

uHpOpMaLIUH.

no teme. Hanncanue scce. AyaupoBaHue: oTpaboTKa




Tenesuneunue.

TCXHUKH BCPOATHOCTHOI'O MPOTHO3UPOBAHUA, OIIPCACIICHUC
TJIaBHOI'O U BTOPOCTCIICHHOI'O.

10 buonoruueckue yacel Beeaenue nekcuku 1no teme. Pa3BuTue HaBHIKOB YMEHUS
OpraHusMa. cUCTeMaTu3upoBaTh HHPopMaluio. OTpaboTKa HaBBIKOB
HaIKMCAHUS HHTETPUPOBAHHOTO 3CCE, UHTETPUPOBAHUE
yacted Tekcrta. DopMupoBaHue yMEHHS I€JIaTh BHIBOJ.
11 Uwucna. Hudper. dater. [ToBTOpeHne wu oTpaboTKa HamucaHus WU, UHCET,
Henbru Tene(OHHBIX HOMEPOB, AT, UMEH COOCTBEHHBIX.
TpeHupoBKka yMeHUsl paclo3HaBaTh YMCIUTEIbHBIC HA CIIYX.
[IpakTuka B UCIIOJIb30BaHUU CJI0KHO-COCTaBHBIX
CYILIECTBUTEIIbHBIX.
Pabota B hopmare sK3aMeHa.
12 Ena (nmonesnas u BrinosiHEHUE  JIEKCMYECKUX  YIPAKHEHUA B IMPOLECCE
BpenHas). Juera ayqupoBaHus, Kiaccu(uKalus OTBETOB, CUTHAJILHBIE CIIOBA.
Hamnncanue acce.
TI'oBopoeHue.
13 Tpaucnopt OTtpaboTka JEKCUKU B IMpoliecce ayAUpPOBAHUS: 3alOIHEHHE
TaONHIBl, CUTHAJIBHBIE CJIOBA W  CJIOBOCOYECTAHUSI.
Hanucanue scce.
14 O6pazoBanue. U3yuenue | OOCyxjaeHue Ha TeMbl Ha 0a3e MaTepuUalioB ISl YTCHUS M
AHTTTUHCKOTO SI3bIKA aynuosanuceif. @DopMUpOBaHHE  HABBIKOB  BBIPAKECHUS
COIJIacus U HECOIJIacusl.
UreHue: Bu3yanu3alusi TEKCTa, aHAIM3 3HAYEHHUS CIIOB,
nepedpazupoBaHue.
Hanucanue scce.
15 Hayka u rexHonmorumu. TpeHupoBKka HaBHIKOB YTeHHs] U OOMeHa wH(OpMalmeid Ha

KomnreroTep.
Texuuueckue
HU300peTCHUS

Oaze TEKCTOB Hay4HO-TIOMYJISIPHOTO Xapaxrepa.
[IpocnymmBanue #u OOCYXKACHHE TEKCTOB HAydyHOU W
TEXHUYECKON HAIpPaBJICHHOCTH.

[Ipe3enTanus marepuaa.
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3amuTa KUBOTHBIX

OtpaboTKka HOBOH JIEKCHKM B IPOIECCe ayAWpOBaHUS,
3aIl0JIHCHUE TAOIHIIBI, KIIACCH(UKALUSI OTBETOB.

[Tucemo: 0oTpa0OTKa  HABBIKOB  apryMCHTHUPOBAaHUS
BBIZIBUHYTBIX HJICH MPU HAIIMCAHUH ICCE.

Pabora B hopmaTte sK3ameHa.

17 ApXuTexTypa OcBoeHHe HOBOM JIEKCMKHM B IPOLIECCE ayAUPOBaHUS U
TOBOpPEHHS.
Urenue: omnpeneneHue  «OTBJIEKAOLICH»  HH(pOpMaIMH,
03arjaBJIUBaHueE a03alleB TEKCTA.
18 IIpOoMBIIIIEHHOCTD U OTtpaboTKa JIEKCUKU JJIsi ONMUCAHUS TEHIEHIMHA TpaduKoB,
CeJIbCKOE X03sIHCTBO TaOJIMILL, CXEM.
I'oBopenwue: onucanue u 00BSICHEHNE, PACCYKIECHHUE 110 TEME.
AynupoBaHMe: CHHXPOHHOE 3alMChIBAHUE YHCITUTENbHBIX.
19 TexHuueckune OtpaboTka  yMmeHus IIPOCMOTPOBOTO, IIOMCKOBOTO,
n300peTeHus 03HAKOMUTEIIFHOTO ¥ M3YYalOIIeT0 YTCHUSI.
I'oBopeHuMe: BbIpa)keHUE MHEHUS, TUCKYCCHSL.
TpeHupoBka yMeHHs BBHIpaXaTh CBOE MHEHHE.
Pabora B hopmaTte sK3amMeHa.
20 [TpoGiiemer 6e3onacHocT | OTpaboTKa  HOBOW  JIGKCHKHM B TIPOIECCEe  YTCHWUS,

ayIMpOBaHUsl, TOBOPEHUS.

Boinonnenue  nekcuueckux — ynpakHeHud. CHHOHMMBI,
QHTOHUMBI.

IInceMo: 3cce «3a» U «IIPOTHBY.
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Onucanne MeEXaHu3Ma 1
KapThl

OTtpaboTKa SI3LIKOBBIX KIIHIIIE.

dopMuUpOBaHUE  YMEHHUS  «UHTaTh» PHCYHOK, KapTy
MECTHOCTH WJIH 3/IaHUS.

[Tucemo: onucanne paboOThl MEXaHU3MA.

22 Yrunuszanus UreHue ¢ BBIIOJIHEHUEM JIEKCHYECKUX 33JaHUM 1O moaoopy
CUHOHHMOB U3 TEKCTA.
OtpaboTka HOBOM JIEKCMKM B IIpOLIECCE ayIUPOBaHMSL:
MHOECTBEHHBIN BBIOOD.
Pabota B hopmare sx3aMeHa.

23 ['noGanpHOE NOTEIUICHHE. | AyaupoBaHue: 3aaaHusi Mo TUIMY — Yes| no| not given,

Oxpyxaromas cpena pa3MmeTKa JuarpaMMebl.

[Incemo: HanMcanue 3cce.
I'oBopeHue: aprymeHTanus.

24 Mys3sika. Teatp. Kuno. BelnonHenne  JEKCHYECKMX — 3aJaHMM B IIpoLecce
ayIupoBaHusi, opopMIIeHHE 3aMETOK.
OtpaboTka HaBBIKOB BBIIOJHEHHs 3a/laHU 1O YTEHHIO,
ayanpoBaHuIo, ToBopeHuto B popmare TOEFL.

25 Htorosoe 3ansaTne Hrorosoe tectupoBanue B popmare TOEFL.




3. @opMbl ATTeCTALUM U OLIECHOYHbIE CPeCTBa

[TpoMeKyTOUHBII KOHTPOJIb B (hOpME MPOMEKYTOYHOTO TECTUPOBAHUS M KOHTPOJBHBIX
paboT MPOBOAUTCS MO OKOHYAHUHM KaXJOW TeMbl. [IpOMEXYTOUHBIH KOHTPOJIb CITY)KUT JUISI
OTIpEe/CNICHUS] PEe3yIbTaTOB M3yUeHUs OOy4YaAIONUMHUCS YacTH TMPOTpaMMbl C MOMEHTA
MPOBEJICHUS MIPEIBIAYIIETO MPOMEKYTOYHOTO KOHTPOJISI U YPOBHS OBJAJCHHS 00YYarOIUMHUCS
OCHOBHBIMH BUJIaMH PEUCBOH JIEATEIBHOCTH (BOCIPUATHEM HA CIIyX, TOBOPECHHEM, YTCHHEM U
MHCbMOM).

WTOroBBIN KOHTPOJIB MPOBOAUTCS 110 OKOHYAHUH U3YYCHHS IPOTPAMMEI.

Y CcrenHpIM MPOX0kKACHUEM MTPOMEKYTOYHOTO U (PUHAIILHOTO TECTUPOBAHMSI CYMTAIOTCS HE
MeHee 65% TMpaBUIIBHO BHITTOJIHEHHBIX 3aJJaHUH.



3.1 OueHOYHBIE MPUMEPHI MPOMEKYTOYHOTO U UTOTOBOTO TECTUPOBAHUS.
IPOMEKYTOYHBINA TECT
Reading Mini-test 3
Check your progress in understanding and recognizing restatements (Exercises R9-R14) by
completing the following Mini-test. This Mini-test uses question types used in the Reading
section of the TOEFL iBT test.

Select the correct answer.

Questions 1-5

Every year about two million people visit Mount Rushmore, where the faces of four U.S.
presidents were carved in granite by the sculptor Gutzon Borglum and his son. The creation of
the Rushmore monument took 14 years — from 1927 to 1941 — and nearly a million dollars.
These were times when money was difficult to come by, and many people were jobless. To help
him with this sculpture, Borglum hired laid-off workers from the closed-down mines in the Black
Hills area of South Dakota. He taught these men to dynamite, drill, carve, and finish the granite
as they were hanging in midair in his specially devised chairs, which had many safety features.

Borglum used dynamite to remove 90 percent of the 450.000 tons of rock from the
mountain quickly and relatively inexpensively. His workmen became so skilled that without
causing damage, they could blast to within four inches of the finished surface and grade the
contours of the facial features. Borglum was so proud of the fact that no workers were killed or
seriously injured during the years of blasting and carving the granite. Considering the workers
regularly used dynamite and heavy equipment, this was a remarkable feat.

During the carving, many changes in the original design had to be made to keep the carved
heads free of large fissures that were uncovered. However, not all the cracks could be avoided,
so Borglum concocted a mixture of granite dust, white lead, and linseed oil to fill them.

Every winter, water from melting snow gets into the fissures and expands as it freezes,
making the fissures bigger. Consequently, every autumn maintenance work is done to refill the
cracks. To preserve this national monument for future generations, the repairers swing out in
space over a 500-foot drop and fix the monument with the same mixture that Borglum used.

1. The author of the passage indicates that the men Borglum hired were
a) trained sculptors
b) laid-off stone carvers
c) Black Hills volunteers
d) unemployed miners

2. According to the passage, what achievement did Borglum pride himself on?
a) The four presidential faces in granite that he had sculpted
b) The removal of 90 percent of the 450,000 tons of rock quickly and at a relatively low
cost



c) His safety record of no deaths or serious injuries during the years of work with heavy
equipment and dynamite

d) His skillful training of the labor force that enabled blasts of dynamite to be within
inches of the contour lines of the faces

. Which of the sentences below best expresses the essential information in the highlighted
sentence in the passage? Incorrect choices change the meaning in important ways or leave out
essential information.

a) Since cracks could not be avoided, Borglum tried various materials to cover them.

b) In order to fill the unavoidable cracks, Borglum invented a mixture for filling them.

c) A mixture was uncovered by Borglum during the changes in design needed to avoid
cracks.

d) Because cracks could not be avoided, Borglum bought a mixture of granite dust, white
lead, and linseed oil.

. According to the passage, today Mount Rushmore needs to be
a) protected from air pollution
b) polished for tourists
c) restored during the winter
d) repaired periodically

The passage discusses all of the following aspects of the creation of the Mount Rushmore
carvings EXCEPT
a) where the people who worked on Mount Rushmore came from

b) why Borglum carved the heads of four presidents
c) how Borglum dealt with fissures that could not be avoided
d) when repairs to this national monument are made

Questions 6-10

Teotihuacan is the largest and most impressive urban archaeological site of ancient
America, covering an area of roughly 20 square kilometers. The city was at one time thought to
be the religious center of the Toltecs but is now believed to be a creation of an earlier
civilization about whose origins little is known. The earliest artifacts from Teotihuacan date
from over 2,000 years ago, but the period of greatest expansion dates from 200 CE to 500 CE.
At its peak the city is estimated to have had a population of up to 200,000 inhabitants, with
residential areas extending throughout the built-up area. Judging by regionally dispersed finds
of the image of the rain god Tlaloc, of “thin orange wear’ pottery and of the characteristic
architectural forms, the influence of Teotihuacan was widespread. It is not clear what caused
the city’s decline and eventual abandonment, but the evidence points to overpopulation, a
depletion of resources, and the possible sacking by adversaries.

The primary axis of the city was the Avenue of the Dead, which extends for 2.5 kilometers
through the center of the urban area, starting in the north at the Moon Plaza and continuing
beyond the Great Compound complexes to the south. The avenue divided Teotihuacan into two
sections with apartment compounds arranged on either side, often symmetrically, suggesting a
highly planned layout from the earliest phases of construction.




The vast Pyramid of the Sun, located in the middle of the central zone, is the tallest and
most dominant structure of Teotihuacan, with a height of 65 meters and a base covering
approximately 10 acres. At one time the edifice was surmounted by a temple. A cave located
underneath the pyramid and possibly used for ritual activities hints at its religious importance.
The Pyramids of the Moon and Feathered Serpent are other notable ceremonial sites nearby.

A particular feature of the architecture of many of the platforms at this site is the series of
sloping apron walls, known as taluds, interspersed with vertical panels — tableros — producing a
step-like appearance. Originally all such structures would have been covered with a layer of
stucco and then painted, often with pictures of animals and mythological creatures.

(2]

. According to the passage, the dispersed finds from Teotihuacan indicate that
a) The city is over 2,000 years old
b) The city had an estimated population of as many as 200,000 inhabitants
c) The residential areas extended throughout the urbanized area
d) The city greatly influenced the surroundings area

7. According to the passage, which of the following statements about the decline of Teotihuacan
is known to be true?
a) The people migrated to another city.
b) The population of the city starved.
c) The city was invaded by neighbors.
d) The cause of the decline is uncertain.

8. According to the passage, the symmetrical layout around the Avenue of the Dead
a) divided the city into two sections, one of which had apartment compounds for the living
b) started at the Moon Plaza, continued past the Great Compound complexes, and extended
as far as the center of the urban area
c¢) included a primary axis of the city
d) indicated that city layout was planned before building began

9. Which of the sentences below best expresses the essential information in the highlighted
sentence in the passage? Incorrect choices change the meaning in important ways or leave out
essential information.

a) A feature of the pyramidal architecture is the many platforms that make up the steps.

b) The sloping walls of the pyramid have occasional vertical panels, which gives the
appearance of steps.

c) The architectural features known as taluds and tableros are a particular feature of the
many pyramidal platforms.

10. All of the following are mentioned as having been found in the Teotihuacan area EXCEPT
a) market streets
b) religious artifacts
c) ceremonial structures
d) residential districts



General Vocabulary

Similar meanings: Verbs 1

Look at the words and phrases in bold in the following sentences, and choose a word from the

boxes that has the same or a similar meaning in the same context. Write these words after each

sentence (the first one has been done for you), then use them to complete the crossword on page 56.

You do not need to change any of the word forms.

Across—

allow alter answer assert assume attain baffle convey derive detect direet enrich exceed

evolve refine relate remove resist reveal settle submit verify

11.
12.

13.
14.
15.
16.
19.

21.

His job is mainly to control the activities of everyone in the company with a view to making

He was asked to disclose government secrets in exchange for money. ...........................
If you want people to take you seriously, you should state firmly your reasons for change.

Antibodies help our bodies to fight infection. ...............c.ooiiiiiiii i,
Several attempts were made t0 IMProve the System. ............ccoovviviiiiiiiiiiiiiiiieianannnn.
Computer software will continue to develop in response to users’ needs. ........................
They asked us to give our thanks and best wishes to the chairman. ................................

The two countries have often tried to resolve their differences, but to little effect.




25. A revolutionary new scientific method may soon help to alter people’s physical appearance
without the need for SUFgery. ........coooeeiiiiiiiiiieeeenen,

27. His explanation seemed to confuse most people. .......coovvviiiiiiiiiiiiiiiiieeen

29. Would you reply to his question as briefly as possible. ......................oo.

32. The device is able to confirm whether a banknote is genuine or a forgery by analyzing the
paper and print quality. ............coooiiiii .

33. Some plants, such as beans, benefit the soil in which they are planted.

35. The rules are designed to eliminate obstacles that may discourage investors.

Look at the words and phrases in bold in the following sentences and write a word that has the
same or similar meaning.

A strong and successful economy. ..............cooiiii,

BaSIiC facCilities. ... ..ovviieiit i,

A small charge for Services. ...........ooooiiiiiiiiiiiii e,

Traditional medicine. ..o

Aninquisitive student. ...........ccooiiiiiiiii e

Specialist knowledge. ..........oveiiieiiiii

Anisolated village. ..........ouieiiii

© © N o g & P

A ridiCulous idea. ......o.vvuinii
10. Suitable computer software. ...........ccoooiiiiiii i
11. A valid reason for doing something. ...........c.cccoveviiiiiiiiiiiinene.
12. Strict economic CONtrolS. .........c.ouiieiiiii i
13. Acalm, peaceful sea. ..........cooiiiiiiiiii
14. A small margin of opportunity. ..o
15. A SECIet OPEratioN. .....vuierit it
16. An insignificant amount of MONEY. ...........ccovviiiiiiiiiiiiiiieeeae.
17. Dangerous chemicals. ...........ccooiiiiiii
18. An exhibition of modern art. ............cooiiiiiiiii e
19. LaSting appeal. .......ouinieitii e

20. Extremely unusual CIrCUMSEANCES. .......c.oviiriiiiiii e,



21. Very strange or unusual behavior. ...

22. A punctual start to aMeeting. .......ccoouiiriitit i

23. Old-fashioned ideas. ...........o.iiieiniiie e

24. A potential or likely candidate for job. ...

25. A thorough Investigation. ............ouieiriiriit it

26. ENOUQh InfOrmation. ............cooieiiniit e e,

27. SIOW DUt Steady Progress. .. .o.voeieei i

28. A sudden, Sharp riSe i PIiCES. ......ouiirinrint it ettt ettt et et eaeeeas

29. A flourishing community. .............ooiiiiiii e

30. Difficult and detailed instructions. ..............oeitiiiiiiiiiiee e,

31 A CreatIVE AITBCION. ...\ttt e e

32 A POWEITUL AIUg. .eee i

33. Extreme measures to prevent or achieve something. ..................oooviiiiiin..

34, A SUPErTiCial PEISON. ...

35. An unpredictable sequence of events. .............ooiiiiiiiiii

36. Rich agricultural SOIl. ...........oiiiiiiii i

7. A TEVEl SUITACE. ..o,

38. Very important information (2 possible words). ............cccoiiiiiiiiiiiiiiiie
39. A diVerse program Of EVENLS. .......o.uiuiirit ittt e
40. Essential raw materials (2 possible Words). .........coovviriiiiiiiii e
41, POISONOUS ASES. . .ueuetetetateteten et et et e e ettt ettt et e e e et e e e e et et et et e aeteaenenanas
42. Clear and direCt COMMENLS. .........ouiirinieit et enens
43. Limited natural TESOUICES. .. ...uiutiet ettt ettt et et e
44, EXTENSIVE UNCMPIOYIMENL. ....utittt ittt ettt e e e e aeaeaaaas
45, A determined STUAENT. ..o e e
46. ROUGN material. ... ..o e



General Vocabulary
Changes

Exercise 1

Look at these sentences and decide if the statement which follows each one is true (T) or false (F).
Use the words and phrases in bold to help you decide.

The population of the country has trebled in the last 25 years.

There has been a dramatic increase in the number of people living in the country. T/F

1.

10.

11.

Unemployment has dropped by about 2% every year for the last six years.

There has been a steady decrease in the number of people out of work. T/F

In the last six months the government has improved the national road system.

There has been a deterioration in the national road system. T/F

The number of exam passes achieved by the school's pupils has risen by almost 50%.

There has been a decline in the number of exam passes. T/F

American travelers abroad have discovered that they can buy more foreign currency with their
dollar.

There has been a weakening of the dollar. T/F

It is now much easier to visit the country than it was a few years ago.

There has been a tightening up of border controls. T/F

We're increasing our stocks of coal before the winter begins.

We're running down our stocks of coal. T/F

Food prices have gone up by about 4% every year since 2004.

There has been a constant rise in the price of food since 2004. T/F

The pass rate for the exam was 3% lower this year than it was last year.

There has been a sharp fall in the pass rate. T/F

The Southern Alliance is going to reduce the number of conventional weapons in their armed
forces.

The Southern Alliance is going to build up the number of conventional weapons in their armed
forces. T/F

Deflation has affected industries around the country.

There has been a growth in industrial activity. T/F

The rules regarding smoking in public places are much stricter now than they were before.
There has been a relaxation of the rules regarding smoking in public places. T/F



12. Last year, 12% of the population worked in industry and 10% worked in agriculture. This year,
14% of the population work in industry and 8% work in agriculture.
There has been a narrowing of the gap between those working in different sectors of economy.
TIF
13. Some management roles in the company will not exist this time next year.
Some management roles are going to be phased out. T/F
14. These days, more people shop at large supermarkets than in small local stores.
There has been an upward trend in the number of people shopping in small local stores. T/F
15. Her English is clearly better now than it was when she first arrived.
There has been marked progress in her English. T/F
16. People live in better houses, drive nicer cars, and eat better-quality food than they did 20 years
ago.
There has been a general improvement in the standard of living in the last 20 years. T/F
17. Our company has opened several new offices in the last five years.
Our company has witnessed considerable expansion in the last five years. T/F
18. The government will spend less on the healthcare services next year.
There are going to be cuts in healthcare spending next year. T/F
19. Americans nowadays want to see more of the world.

Americans nowadays want to narrow the horizons. T/F



HUTOI'OBBIN TECT

Questions 1-12
Two atomic clocks

The nucleus of a radioactive atom disintegrates spontaneously and forms an atom of a different element while
emitting radiation in the process. The original atom is called the parent isotope* and its stable product is called
the daughter or progeny isotope. For example, rubidium-87 decays by emitting an electron from its nucleus to
form a stable daughter called strontium-87. Because the rate of nuclear decay is constant regardless of
temperature and pressure conditions, radioactive decay provides a dependable way of keeping time.
Radioactive isotopes alter from one type of atom to another at a fixed rate from the moment they are created
anywhere in the universe. Since we can calculate the decay rate and also count the number of newly formed
progeny atoms and the remaining parent atoms, we can use the ratio as a kind of clock to measure the age of
minerals and other materials.

The rate at which a radioactive element decays is known as the half-life of the element. This is the time
necessary for one-half of the original number of radioactive atoms in a sample to decay into a daughter
product. After two half-lives, the number of atoms remaining after the first half-life will have decayed by half
again. Thus, the number of remaining parent atom is reduced geometrically over time. With some elements,
the half-life is very long. Rubidium-87, for example, has a half-life that has been estimated at nearly 48.8 billion
years, much longer than the current estimated age of the universe. With other elements, this period can be as
short as a few days or even minutes. If we know the half-life of a decaying element, it is possible to calculate
the ratio of parent to stable progeny that will remain after any given period of time.

Geologists use a sensitive instrument called a mass spectrometer to detect tiny quantities of the isotopes of
the parent and progeny atoms. By measuring the ratio of these, they can calculate the age of the rock in which
the rubidium originally crystallized. Because the number of progeny is growing as the parent is decaying and
this is occurring at a constant rate, after one-half life the ratio is one parent to one progeny. After two half-
lives the ratio is 1 to 3.

Rubidium-87 has often been used to date rocks since it is a widespread element. Various elements
including rubidium are incorporated into minerals as they crystallize from magma or metamorphic rock. During
this process the rubidium is separated from any strontium progeny that existed before the rock formed and so
we know that the measurable alteration from parent to progeny can be dated from this point. As the
radioactive decay of rubidium -87 begins, new progeny atoms of strontium-87 start to accumulate in the
rock. In the dating of rocks using these elements, it is important that the rock sample has not been
altered subsequent to its formation by other geologic processes or contamination of any kind. Rocks as
old as 4.6 billion years can be dated with some degree of reliability using this method.

Another radioactive element useful for dating is carbon -14, which decays into nitrogen-14.
With a half-life of 5,730 years, carbon-14 decays much more rapidly than rubidium-87 and so is

useful for measuring the ages of objects from the recent historical and geologic past, such as



fossils, bones, wood, and other organic materials. Whereas rubidium-87 is incorporated into rocks
during their formation, carbon-14, which is an essential element of the cells of organisms, becomes
incorporated into living tissues as organisms grow. The ratio of carbon-14 to stable carbon isotopes
in the organism is the same as it is in the atmosphere. When a living organism dies, no more carbon
dioxide is absorbed and so no new carbon isotopes are added. The daughter nitrogen-14 isotope,
existing in gaseous form, leaks out of the dead organism, and thus, we cannot use it to compare the
ratio of original to daughter as is done with rubidium-87 and its daughter. However, as the amount
of carbon-14 in the dead organism becomes less over time, we can compare the proportion of this
isotope remaining with the proportion that is in the atmosphere and from this calculate the
approximate number of years since the organism has died. Dating dead organic material by this
method is moderately reliable in samples up to about 50,000 years old, but beyond that the
accuracy becomes unreliable.

*|sotope: one of the different forms of an atomic element

*magma: material that is in liquid form and which cools on the Earth’s surface to form rock

1. The word “alter” in the passage is closest in meaning to

A. adapt The nucleus of a radioactive atom disintegrates spontaneously and
(E:" (rzg\?ir;ge forms an atom of a different element while emitting radiation in the
D. vary process. The original atom is called the parent isotope* and its stable

product is called the daughter or progeny isotope. For example,
rubidium-87 decays by emitting an electron from its nucleus to form a
stable daughter called strontium-87. Because the rate of nuclear decay
is constant regardless of temperature and pressure conditions,
radioactive decay provides a dependable way of keeping time.
Radioactive isotopes alter from one type of atom to another at a fixed
rate from the moment they are created anywhere in the universe. Since
we can calculate the decay rate and also count the number of newly
formed progeny atoms and the remaining parent atoms, we can use the

ratio as a kind of clock to measure the age of minerals and other

materials.




2. The rate of nuclear decay in rubidium-87

Is always the same
changes over time [Refer to the full passage]
depends on temperature

depends on temperature and
pressure

oo >

3. The word “This” in the passage refers to

A. element The rate at which a radioactive element decays is known as the half-
g' ?;I;‘-hfe life of the element. This is the time necessary for one-half of the

D. time original number of radioactive atoms in a sample to decay into a
daughter product. After two half-lives, the number of atoms remaining
after the first half-life will have decayed by half again. Thus, the
number of remaining parent atom is reduced geometrically over time.
With some elements, the half-life is very long. Rubidium-87, for
example, has a half-life that has been estimated at nearly 48.8 billion
years, much longer than the current estimated age of the universe.
With other elements, this period can be as short as a few days or even
minutes. If we know the half-life of a decaying element, it is possible
to calculate the ratio of parent to stable progeny that will remain after

any given period of time.

4. The half-life of an element

A. is areliable way of measuring sample
size

B. is a measure of decay rate in radioactive [Refer to the full passage]
elements

C. is considered an unreliable way of
calculating age

D. is approximately half the age of the
atoms it contains

5. What can be inferred about the reliability of using radioactive atoms to calculate ages of rock
samples?

A. The reliability increases over time.
B. The reliability decreases with older
samples.




C. The reliability of the parent atom is [Refer to the full passage]
greater than the progeny.

D. The reliability of the progeny atom is
greater than the parent.

6. According to the passage, from what point can we measure the ages of rocks?

joined

samples

A. From the point at which rubidium-
87 became part of the rock structure

B. From the point at which strontium-
87 started to decay

C. From the point at which the rocks
rubidium-87 and strontium-87

D. From the point at which later
contamination entered the rock

[Refer to the full passage]

7. The word “essential” in the passage is closest in meaning to

A. redundant
B. stable
C. dependable
D. vital

Another radioactive element useful for dating is carbon -14,
which decays into nitrogen-14. With a half-life of 5,730 years,
carbon-14 decays much more rapidly than rubidium-87 and so is
useful for measuring the ages of objects from the recent historical
and geologic past, such as fossils, bones, wood, and other organic
materials. Whereas rubidium-87 is incorporated into rocks during
their formation, carbon-14, which is an essential element of the
cells of organisms, becomes incorporated into living tissues as
organisms grow. The ratio of carbon-14 to stable carbon isotopes
in the organism is the same as it is in the atmosphere. When a
living organism dies, no more carbon dioxide is absorbed and so
no new carbon isotopes are added. The daughter nitrogen-14
isotope, existing in gaseous form, leaks out of the dead organism,
and thus, we cannot use it to compare the ratio of original to
daughter as is done with rubidium-87 and its daughter. However,
as the amount of carbon-14 in the dead organism becomes less

over time, we can compare the proportion of this isotope




remaining with the proportion that is in the atmosphere and from
this calculate the approximate number of years since the organism
has died. Dating dead organic material by this method is
moderately reliable in samples up to about 50,000 years old, but

beyond that the accuracy becomes unreliable.

8. According to paragraph 5, what happens to an organism after it dies?

B.

C.

D.

A. lttendsto

deteriorate
rapidly.

The various
carbon isotopes
decay.

The supply of
carbon-14 is no
longer
replenished.
The stable carbon
isotopes
deteriorate.

Paragraph 5 is
marked with an
arrow >

>Another radioactive element useful for dating is carbon -
14, which decays into nitrogen-14. With a half-life of 5,730
years, carbon-14 decays much more rapidly than rubidium-87
and so is useful for measuring the ages of objects from the
recent historical and geologic past, such as fossils, bones,
wood, and other organic materials. Whereas rubidium-87 is
incorporated into rocks during their formation, carbon-14,
which is an essential element of the cells of organisms,
becomes incorporated into living tissues as organisms grow.
The ratio of carbon-14 to stable carbon isotopes in the
organism is the same as it is in the atmosphere. When a living
organism dies, no more carbon dioxide is absorbed and so no
new carbon isotopes are added. The daughter nitrogen-14
isotope, existing in gaseous form, leaks out of the dead
organism, and thus, we cannot use it to compare the ratio of
original to daughter as is done with rubidium-87 and its
daughter. However, as the amount of carbon-14 in the dead
organism becomes less over time, we can compare the
proportion of this isotope remaining with the proportion that is
in the atmosphere and from this calculate the approximate
number of years since the organism has died. Dating dead
organic material by this method is moderately reliable in
samples up to about 50,000 years old, but beyond that the

accuracy becomes unreliable.




9. According to paragraph 5, why can’t scientists compare the ratio of carbon-14 to nitrogen-14?

B.

D.

A. The amount of

nitrogen-14 is not
predictable.

The ratio of these
two elements doesn’t
change.
Nitrogen-14 has an
unpredictable decay
rate.

Carbon-14 tends to
evaporate too
quickly.

>Another radioactive element useful for dating is carbon
-14, which decays into nitrogen-14. With a half-life of 5,730
years, carbon-14 decays much more rapidly than rubidium-
87 and so is useful for measuring the ages of objects from
the recent historical and geologic past, such as fossils,
wood, and other Whereas

bones, organic materials.

rubidium-87 is incorporated into rocks during their
formation, carbon-14, which is an essential element of the
cells of organisms, becomes incorporated into living tissues
as organisms grow. The ratio of carbon-14 to stable carbon
isotopes in the organism is the same as it is in the
atmosphere. When a living organism dies, no more carbon
dioxide is absorbed and so no new carbon isotopes are
added. The daughter nitrogen-14 isotope, existing in gaseous
form, leaks out of the dead organism, and thus, we cannot
use it to compare the ratio of original to daughter as is done
with rubidium-87 and its daughter. However, as the amount
of carbon-14 in the dead organism becomes less over time,
we can compare the proportion of this isotope remaining
with the proportion that is in the atmosphere and from this
calculate the approximate number of years since the
organism has died. Dating dead organic material by this
method is moderately reliable in samples up to about 50,000

years old, but beyond that the accuracy becomes unreliable.




10. According to paragraph 5, the amount of carbon-14 in an organism

B.

C.

D.

A. replaces other carbon

isotopes after an
organism dies

tends to be the same as
the other carbon
isotopes

increases rapidly when
an organism dies
deteriorates from the
moment of death

Paragraph 5 is marked
with an arrow >

>Another radioactive element useful for dating is
carbon -14, which decays into nitrogen-14. With a half-
life of 5,730 years, carbon-14 decays much more rapidly
than rubidium-87 and so is useful for measuring the ages
of objects from the recent historical and geologic past,
such as fossils, bones, wood, and other organic materials.
Whereas rubidium-87 is incorporated into rocks during
their formation, carbon-14, which is an essential element
of the cells of organisms, becomes incorporated into
living tissues as organisms grow. The ratio of carbon-14
to stable carbon isotopes in the organism is the same as it
is in the atmosphere. When a living organism dies, no
more carbon dioxide is absorbed and so no new carbon
isotopes are added. The daughter nitrogen-14 isotope,
existing in gaseous form, leaks out of the dead organism,
and thus, we cannot use it to compare the ratio of original
to daughter as is done with rubidium-87 and its daughter.
However, as the amount of carbon-14 in the dead
organism becomes less over time, we can compare the
proportion of this isotope remaining with the proportion
that is in the atmosphere and from this calculate the
approximate number of years since the organism has
died. Dating dead organic material by this method is
moderately reliable in samples up to about 50,000 years

old, but beyond that the accuracy becomes unreliable.




11.

Look at the four brackets [] that indicate where the following sentence could be added to the

passage.

Both the unstable carbon-
14 and stable carbon

isotopes are taken in from
the carbon dioxide present

in the atmosphere.

Where would the sentence
best fit? Choose the letter of
the square that shows where
the sentence should be
added.

Another radioactive element useful for dating is carbon
-14, which decays into nitrogen-14. [A] With a half-life of
5,730 years, carbon-14 decays much more rapidly than
rubidium-87 and so is useful for measuring the ages of
objects from the recent historical and geologic past, such as
fossils, bones, wood, and other organic materials. Whereas
rubidium-87 is incorporated into rocks during their
formation, carbon-14, which is an essential element of the
cells of organisms, becomes incorporated into living tissues
as organisms grow.

[B] The ratio of carbon-14 to stable carbon isotopes in the
organism is the same as it is in the atmosphere. [C] When a
living organism dies, no more carbon dioxide is absorbed
and so no new carbon isotopes are added. [D] The daughter
nitrogen-14 isotope, existing in gaseous form, leaks out of
the dead organism, and thus, we cannot use it to compare
the ratio of original to daughter as is done with rubidium-87
and its daughter. However, as the amount of carbon-14 in
the dead organism becomes less over time, we can compare
the proportion of this isotope remaining with the proportion
that is in the atmosphere and from this calculate the
approximate number of years since the organism has died.
Dating dead organic material by this method is moderately
reliable in samples up to about 50,000 years old, but

beyond that the accuracy becomes unreliable.




12.

Directions: Select the appropriate phrases from the answer choices and match the dating
technique to which they relate. TWO of the answer choices will NOT be used.

This question is worth 4 points.

Write the letters of the answer choices in the spaces where they belong. Refer to the full

passage.

Answer Choices Rubidium-87
Can be used for dating artifacts made of bones
or wood
Destroys progeny isotopes
Essential to living organisms
Has a half-life of billions of years
Incorporated into minerals when they Carbon-14
crystallized
Progeny cannot be used for dating
Unreliable for dating samples
Used for dating dead trees
Used for dating rocks

TOEFL Listening
Questions 1-6
Listen to part of a lecture in a biology class and get ready to answer the questions. You may use
your notes to help you answer.
1. What is the lecture mainly about?
A. How the tide affects the estuarine environment
B. How the adaptations of estuarine organisms developed
C. How the salinity of water is associated with maintaining the right balance
D. How organisms have adapted to differing concentrations of water and salt
2. Listen again to part of the lecture. Then answer the question. What does the professor imply
when he says this:
A. The students probably know the term already.
B. The students should have kept better notes.
C. The term is not relevant to the lecture.
D.

The term is in their class notes.




3. What two adaptations are mentioned that allow crabs to survive in the estuary
environment? Choose 2 answers.
A. Their hard shells keep out water and salt.
B. Their gills and skin adjust to changes rapidly.
C. They can burrow into the soft mud.
D. Their internal organs regulate salt intake.
4. Listen again to part of the lecture. Then answer the question. Why does the professor says
this:
A. To test the students’ understanding of osmoregulators
B. To find out if the students understand how blue crabs breed
C. To show a discrepancy in the behavioral pattern of the crab
D. To give the students an opportunity to ask questions
5. Indicate whether each word or phrase below describes a physiological adaptation or

behavioral adaptation. Check the correct box for each statement.

Physiological Behavioral

migrating

osmoregulating

dropping leaves

Ol O] w >

burrowing into mud

6. The adaptations of which estuarine creature are NOT discussed in the lecture?
A. fish
B. birds
C. plants
D. invertebrates
Questions 7-11
Listen to a conversation between a student and a professor. Now get ready to answer the
questions. You may use your notes to help you answer.
7. Why does the student go to see the professor?
A. To discuss degree requirements

B. To get advice about changing degrees



C. To ask about American Sign Language
D. To inform the professor of changes in his degree program
8. Listen again to part of the conversation. Then answer the question. What can be inferred
about the professor?
A. She does not understand why the student has come to her office.
B. She expects the student to have a background in linguistics.
C. She advises students getting degrees in linguistics.
D. She is not sure why students want to switch majors.
9. Why does the student want to change degree programs?
A. He wants to study languages in Peru.
B. He’s worried about financing his studies.
C. He enjoyed his English teaching experiences.
D. He likes helping people with speech disorders.
10. Listen again to part of the conversation. Then answer the question. Why does the professor
say this?
A. To avoid giving the student false hopes
B. To influence the student’s choice of languages
C. To suggest that the student may have false information
D. To point out to the student the reasons to be cautious
11. What can be inferred about the student?
A. He may not be able to finance a change in degree programs.
B. He does not intend to take a heavier course load to graduate on schedule.
C. He has highlighted all the prerequisites for upper-level courses.
D

. He wants to look at all the options for other language courses.

Questions 12-17
Listen to a discussion in an educational class. Now get ready to answer the questions. You may
use your notes to help you answer.
12. What is the discussion mainly about?
A. The kinds of questions that encourage thought processes
B. The factors that discourage students from asking questions
C. The personality traits of a particular professor in the faculty

D. The way classroom size affects students’ abilities to form questions



13. Why does the professor say this?

A. He is expecting the students to consider an answer to his questions
B. He is preparing the students for the discussion that he wants them to take up

C. He s giving an example of the kinds of questions teachers ask students

D. He is telling the students the kinds of questions students should ask themselves

14. Listen again to part of the discussion. Then answer the question. What can be inferred

about the students?

A. They both question the professor’s classification of the pressure of feeling stupid

B. The woman doesn’t agree with the man that class size is an aspect of appearing

stupid

C. The man is convinced that it is better to ask questions in a small class

D. They have different reasons for considering class size as a negative pressure

15. Why does Lisa mention Professor Clarkson?
E. To make fun of his course
F. To give an example of time pressure
G. To praise his style of answering questions

H. To encourage the others to take his course

16. In the discussion, the professor elicits different reasons why students don’t ask questions.

Indicate whether each of the following is one of the discussed fears.

Check the correct box for each statement

Yes

No

Fear of asking too many questions

Fear of being considered stupid

Fear of being the victim of a joke

Fear of making a mistake

m O] O m >

Fear of wasting a professor’s time

17. Listen again to part of the discussion. Then answer the question. Why does the professor

say this?

A. To change the group discussion assignment to a different topic

B. To challenge the students to reconsider the pressures they have mentioned

C. To inform the students that they have not done a good job of listing the pressures




D.

To indicate to the students that they are not limited to the pressures written on the

board

Questions 18-23

Listen to a lecture in a history of ideas class. Now get ready to answer the questions. You may

use your notes to help you answer.

18. What is the lecture mainly about?

A
B.
C.
D.

A theory about criminal personality development
A system for evaluating personality theory
A method of psychological analysis

A comparison of early psychological theories

19. What points does the professor make about Gall’s phrenological theory? Choose 2 answers

A
B.
C.
D.

Abilities were evenly distributed in the brain

Each part of the brain was used for a different ability
The shape of the skull corresponded to brain shape
The shape of the brain was less important than the size

20. Listen again to part of the lecture. Then answer the question. Why does the professor say

this?

A
B.
C.
D.

To express her disagreement with the students’ opinions
To agree that many people might think this theory is strange
To test the students’ understanding of the concepts

To remind the students of a previous unusual idea

21. According to the professor, how did phrenologists approach evidence?

A
B.
C.
D.

They carefully examined evidence that did not fit with their theory
They were not interested in seeking confirmation of their claims
They only accepted the evidence that seemed to fit their claims

They looked for evidence that they knew was false

22. What does the professor imply about phrenology?

A

It was once more highly thought of than today

B. It was mainly a waste of research time
C.
D

. It was usually on the receiving end of satirical humor

It was never more than a minority interest



23. According to the professor, which of the following modern beliefs was contributed to by
phrenology?
A. Certain organs within the brain are responsible for certain kinds of behavior
B. The power of the brain is related to the size and shape of the organ
C. The shape of the skull is determined by the shape of the brain

D. Certain abilities are related to specific areas of the brain

Questions 24-29
Listen to a discussion in an astronomy class. Now get ready to answer the questions. You may
use your notes to help you answer.
24. What is the discussion mainly about?
A. The differences between conditions on Mars and conditions on Earth
B. The possibility of radically transforming the conditions on Mars
C. The necessity of human migration in the search for new resources
D. The ethical problems arising from the human settlement of Mars
25. Why does the professor say this?
A. To express doubt about the possibility of terraforming
B. To criticize the science community for wasting resources
C. To indicate that terraforming would be a technologically amazing feat
D. To encourage students to think clearly about the need of terraforming
26. Why does the professor mention the migration of Europeans to the Americas?
A. To emphasize that people like to explore new regions
B. To give an example of the fact that population pressures cause migrations
C. To provide background information on the need to terraform Mars
D. To argue that the settlement of the Americas was a valuable use of resources
27. According to the professor, why is Mars the planet that scientists want to terraform?
Choose 2 answers
A. It is nearer to Earth than other planets
B. Its atmospheric conditions are rather similar to those on Earth
C. The other planets are unsuitable for several reasons
D

. Mars contains water and its surface is solid



28. Listen again to part of the discussion. Then answer the question. Why does the professor

say this?

A
B.
C.
D.

He wants to focus on the technological considerations of terraforming
He thinks the ethical considerations are not relevant to classroom discussion
He thinks the students know his opinion about the right way to use Earth’s resources

He wants the students to make up their own minds about the ethics of terraforming

29. Which of the following is NOT mentioned as a method of terraforming Mars?

A.

Crashing ammonia-rich asteroids onto the planet’s surface

B. Introducing oxygen-releasing plants from Earth
C.
D. Building greenhouse gas producing factories on the Martian surface

Heating the surface with sunlight reflected from orbiting mirrors

Questions 30-34
Listen to part of a conversation between a student and a research coordinator. Now get ready to

answer the questions. You may use your notes to help you answer.

30. Why has the student gone to see the research coordinator?

A
B.
C.
D.

To investigate food disorders
To find out where he Pharmacology Lab is
To participate in an experiment

To volunteer for making weekly breakfasts

31. Why does the research coordinator ask the student personal questions?

A
B.
C.
D.

To make sure the student fits all the requirements
To test if the student has read the announcement correctly
To see if the student understands the experiment

To help the student decide whether she wants to participate

32. Listen again to part of the conversation. Then answer the question. Why does the student

say this?

A
B.
C.
D.

Because she gets ill frequently
Because she can only know about her current health
Because she intends to stay well for the week

Because her bout with flu is over

33. Which of the following topics does the research coordinator NOT ask the student about?

A.

Her susceptibility to allergies



B. Her use of medications
C. Her preferences for snacks
D. Her current health situation
34. What example does the research coordinator give of the breakfast that will be provided?
A. Pickled onions or grasshoppers
B. Candy bars or potato chips
C. Yogurt or nuts
D.

Eggs or cereal

TOEFL Speaking

1. Please listen carefully.

A good teacher should have some special qualities. What qualities do you think are necessary for a
good teacher to have and why? Include details and examples in your explanation.

Preparation time: 15 seconds

Response time: 45 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.

2. Please listen carefully.
Some people believe that people who play video games are learning important life skills.
Others believe that video game players are wasting their time. Which view do you agree with
and why? Include details and examples in your explanation.

Preparation time: 15 seconds

Response time: 45 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.

3. Please listen carefully.
The University of the Rockies newspaper has published a letter to the editor concerning a
university policy. Read the letter about the hiring of temporary instructors. You will have 45
seconds to read the letter. Begin reading now.

PAUSE (for 45 seconds)



Reading time: 45 seconds

Letter to the Editor

Most students are unaware of the employment conditions of our
instructors. In fact, an ever increasing percentage of our teachers have
adjunct contracts. This means that they are only hired for a semester at a
time, are underpaid, and receive no benefits. Although universities
make great savings by following a policy of using temporary
instructors, students do not benefit from these savings in the form of
lower tuition fees. Considering how our university is exploiting
teachers, we as students should be asking in what ways our education is

suffering from this situation.

Now listen to two students as they the issue brought up in the letter. Now get ready to answer the
question.

The man expresses his opinion on the issue of temporary instructors. State his opinion and explain
the reasons he gives for that opinion.

Preparation time: 30 seconds

Response time: 60 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.
4. Please listen carefully.
Read the passage about imprinting in baby birds. You have 45 seconds to read the passage.

Begin reading now.

PAUSE (for 45 seconds)



Reading time: 45 seconds

Imprinting

Animal psychologists have long known that young geese and ducks
instinctively follow their mother, but only if they have the opportunity
to do so at an early point in their lives. If these goslings or ducklings are
separated from their mothers during this sensitive period, they will not
develop an attachment to her.

Konrad Lorenz, the scientist who developed our knowledge of this
phenomenon, used the term imprinting to identify the process in which
this bond is formed. Lorenz noted that imprinting appears immediately
after hatching and that the period during which it can develop lasts for
at most a couple of days. Moreover, Lorenz argued that imprinting was
irreversible and that a hatchling will imprint on its mother, or,
remarkably, on any suitable moving object if the mother is not

available.

Now listen to part of a lecture on this topic in an ecology class and get ready t answer the
questions.

The professor explains the notion of imprinting in young geese and ducks. Explain how this
behavior develops and how it might be important for the birds’ survival.

Preparation time: 30 seconds

Response time: 60 seconds

You may begin to prepare your response after the beep. Please begin speaking after the beep.



TOEFL Speaking

INTEGRATED TASK
Directions: You have three minutes to read and take notes from the reading passage. Next, listen to
the related lecture and take notes. Then write your response.

Dowsing

Dowsing is the millennia-old practice of finding hidden things. The most
well-known activity of dowsing involves the use of a device such as a forked
stick to locate underground water. To this end, the dowser walks slowly back
and forth over an area of ground holding the dowsing tool out in front with
both hands. It is said that the dowser, by concentrating carefully, is somehow
able to feel the energy of the flowing underground streams vibrating through
the rod at certain frequencies, and thus is able to tell precisely where to dig or
drill to find water. Sometimes the dowsing tool will twist and jerk or suddenly
point downward. Some dowsers hold two L-shaped rods, one in each hand. In
this case, when he or she walks over an area of underlying water, the rods
cross over indicating the place where digging should commence.

In recent years dowsing has gained in popularity not only as a method for
finding underground water but also for trying to uncover other objects
including buried treasure, oil, or even dead bodies. A recent application has
been the search for what some consider harmful energy fields in an attempt to
avoid them. Even large businesses and official organizations pay dowsers for
their detection skills. Although no one is completely sure how dowsing works,
the testimonials of satisfied customers bear witness to the success of this

ancient art.




Now listen to a professor’s response to the reading passage.

Directions: You have 20 minutes to plan and write your response. Your response will be judged
based on the quality of your writing and on how well your response presents the points in the lecture
and their relationship to the reading passage. Typically, an effective response will be 150 to 225
words.

Question: Summarize the points made in the lecture you just heard, explaining how they cast doubt
on the points made in the reading.

(Reading passage reappears during writing time. Refer to the full passage on the previous page.)

Writing Based on Knowledge and Experience

Directions: For this task, you will write an essay in response to a question that asks you to state,
explain, and support your opinion on an issue. You will have 30 minutes to plan, write, and revise your
essay.

Typically, an effective essay will contain a minimum of 300 words. Your essay will be judged on
the quality of your writing. This includes the development of your ideas, the organization of your
essay, and the quality and accuracy of the language you use to express your ideas.

On the day of the test, you will be required to type your response into a computer. Therefore, if you

are taking this test in the book, practice typing your response on a computer.

INDEPENDENT WRITING TASK

Directions: Read the question below. You have 30 minutes to plan, write, and revise your essay.
Typically, an effective response contains a minimum of 300 words.

Question: Do you agree or disagree with the following statement?

There is nothing that an uneducated person can teach an educated person.

Use specific reasons and examples to support your opinion.



4. OpraHu3anoOHHO-TIearorHYecKue yCJI0BHA pPeaaTu3alu NporpaMmsl
4.1. MaTepuaJIbHO — TEXHHYECKOE oDecriedeHne

B xome peanu3anmuu mporpaMmbl HCIOJB3YIOTCS ydeOHBIC ayJIUTOPHUH, KOTOPBHIC OCHAIICHBI
MYJIbTUMEANIHHBIM KOMIUIEKCOM (HOYTOYK, MPOESKTOP, IKPaH), MarHUTO(OH.
Kaxxnprit oOy4varoruiicss obecreueH JoCTYIoM K OMOIHMOTeYHBIM (POHIAM.

4.2. KaapoBoe odecnieueHue

K peanmmsaimu mnporpaMMmbl I[IPUBJICKAOTCS  BBICOKOKBATH(HIUPOBAHHBIC —CICLUAIHCTEL,
HUMCIOIIIUEC OIIBIT paGOTbI 110 AOIIOJIHHUTCIIbHBIM O6H.[eO6pa3OBaTCJIbHBIM nporpamMmmMam B COOTBCTCTBUH
¢  TapudHO-KBATU()UKAIMOHHBIMA  XapaKTEPUCTUKAMU 10  JIOJDKHOCTSIM  PabOTHUKOB
00pa30BaTENLHOTO YUPEKICHUS.

4.3. Meroauyeckoe U TUIAKTHYECKOE o0ecledeHue
00pa3oBaTeJIbLHOr0 MpoIecca

O0pa3oBaTe/bHbIe TEXHOJOTHMU. B cOOTBETCTBUU € 1ENsAMU U 33la4aMU IIPOTrPaMMBbl IPoLecce
O00y4YeHHs aHTIUICKOMY SI3BIKY IPEAIOJIaraeT COYETaHHE ayJIUTOPHOH M BHEAYJUTOPHOH paboTHI
00y4aroIerocsi, 4YTo CocoOCTBYET Pa3BUTUIO TBOPUECKOW aKTHUBHOCTH, KaK IPU OBJIAJCHHUM, TaK U
[IPaKTUYECKOM UCIOJIb30BaHUU MOJIYUEHHbBIX 3HAHUN B ITPOLIECCE KOMMYHUKAILIUH.

[Ipoiecc oOyueHHs] aHIIMHCKOMY S3bIKY IPEAINOJAraeT Cco4yeTaHue OObSICHUTENIBHO-
WJUTIOCTPATUBHBIX METOJI0B (BU3YaJbHBIX U CIIYXOBbIX) U METOJOB IPOOIEMHOI0 00y4ueHus (pojieBbIe
UIpbl,  CO3/JaHUMEe  NPOOJEMHBIX  CUTYalMi,  MpeanojaralolMX  pelIeHHe  KOHKPETHBIX
KOMMYHMKATUBHBIX 3aJ]1a4, [OATNOTOBKA, HAIlMCAHUE M NPE3EHTalus COOOLICHWM, TOKIAaI0B U T.IL.).
Taxum oOpa3oM, B X0/1e 00yUEHUS KOMMYHUKAMUBHBLU HOOX0O CTAHOBUTCS YaCThIO 0eAmenbHOCMHO20
nooxooa.

s obecniedenus 3pGHEKTUBHOCTH Y4eOHOTO Mpoliecca, IOMUMO MeAarorHuecKuxX MPUHIIMIIOB
oOyueHHusl, IIUPOKO UCHOIb3YETCS MexXHoI02Usi O00yYeHUsi B3POCAbIX WHOCTPAHHOMY  SI3BIKY,
BKJIIOYAIOLIAS aHOpazocuieckue npunyunsl 00y4eHus: IPUOPUTET CAMOCTOSITEIBHOIO U OCO3HAHHOTO
oOydeHusi, ormopa Ha OMNbBIT (S3BIKOBOW, MPEJAMETHBINA, IEJIOBOM) OOyYaroierocs, COBMECTHast
JeSTeNbHOCTh yyalluxcs (peanu3anus 3adavyHoOro MOAXO0/Ja) M HWHAMBUIyanu3aluus oOydeHHS,
aKTyaln3anus pe3yJbTaToB OOYYEeHHs, CHCTEMHOCTh OOY4YEHUsI, KOHTEKCTHOCTh OOYYEHUSs, pa3BUTHE
o0pa3oBaTeNnbHBIX MOTpeOHOCTEH 00ydaeMoro.

s 3 dexTuBHON caMOCTOATENBHON pabOThl 00YYarOIIErocsl UCIONIb3YIOTCS UHTEPAKTHBHbIE
IIPOrpaMMbl, KOTOPBIE IMO3BOJISIIOT COYETaTh PA3JIUYHbIE MOAXO0/bl K OpraHW3aluu 00yUeHHs B TpyIIe
yuamuxcs. Vcnonab3oBaHre HOBBIX TEXHOJIOTMH B codeTaHuu ¢ TpaauiuoHHbIMU TCO mnoBbllIaer
MOTHUBAIMIO 00YYaOLINXCSl, AKTUBU3UPYET UX MOTEHLUAIbHbBIE HHTEIUIEKTYaJIbHbIE BO3MOKHOCTH.

Meroauyeckne PpEeKOMEHJAUMU INpenoJaBarTearo. JIMHIBUCTUYECKMM ACIEKT BKIKOYACT
MpernojaBaHiue TpaMMaTHUYeCKOro0 U JIEKCHYECKOr0 MHMHHMYMa, OOYCJIOBJIEHHOTO TEeMaTUYeCKUM
IIJIJAHOM JTaHHOU IIporpammel. [IpenongaBanue rpaMMaTvKU OCYILIECTBISAETCA KOMIUIEKCHO C JIEKCUKOU B
KOMMYHHMKaTHBHOM acleKTe U BEeIETCs OT cMbIcia K ¢popme. ba3oBble 3HaHMS B 00J1aCTH TpaMMAaTUKHU
3aKJIa/IBIBAIOTCS MyTeM H3y4eHHs] MOP(OJIOTHH, CHHTAKCHCa M CIOBOOOPA30BaHUS yepe3 MOJENU U
TekcT. bonblioe BHUMaHHE yAenseTcs IpaMMaTHYeCKMM M JIEKCMUECKUM TpaHcopMmamusM Kak
croco0aM BBIPAXKEHUS OINPEIEIEHHOIO0 KOMMYHUKAaTUBHOTO 3a/IaHUsL.

[TocrossHHO mpoBOAMTCA paboTa MO 3aKPEIUICHUIO W aKTUBU3ALMKU Mojened u  Qopwm,
TpeOYIOLINX 3ayYBaHUA.




Cucremarnyeckoe M3y4eHHE JIEKCHKM IOJAYMHEHO OCHOBHOM 3a/jaue — pa3BUTHIO HAaBBIKOB
YCTHOM ¥ IMCbMEHHOM peYy U NIEPEBOIA.

OT100p JNeKcHYecKOro MaTepHaia MPOBOAUTCS HA OCHOBE YUEOHBIX TEKCTOB U KOHKPETHBIX TEM,
M3y4aeMbIX B paMKaX YKa3aHHBIX BBIIIE KOMMYHUKAaTHUBHBIX cep. B ocHOBe 00ydeHus: aHTIIHICKOMY
A3bIKY KaK MHOCTPaHHOMY Jie’KaT paboune ydeOHbIe MJIaHbl, B KOTOPBIX ONPECIIAIOTCS IPAKTUYECKHE
3aJau, YKa3bIBalOTCS y4eOHbIC TEMbl W OOIIME BUABI pabOTHI, OMPEAEISAIOTCS (OPMBI KOHTPOJIA
(UTOrOBOIO M MPOMEXKYTOHYHOT'0), 00BEM YACOB U KaJIEHIAPHBIE CPOKH.

JIMHTBOCTpaHOBEIYECKHH aCHEeKT NPUCYTCTBYET Ha BCeX dTamax oOydeHus. B mporecce
OBJIAJIEHUS SA3bIKOM OOYy4aroOUIMiics yCBaMBalOT HEOOXOAMMbI MMUHUMYM (DOHOBBIX 3HAHUH O CTpaHe
M3y4yaeMoro s3blka (reorpadusi; OCHOBHBIE BEXWM MCTOPHH; OOIIECTBEHHBIN CTpOW; IEHTpalbHBIE
OpraHbl BJIACTH; IIOJIMTUYECKUE MAapTUH; BHYTPEHHSS M BHEIIHAA [OJMTUKA; Ba)KHeHIIne
OOIIIECTBEHHbIE OpraHMU3AlMU; MPA3THUKH, OObYaW M TPAJUIMU; BUAHBIE MCTOPUUYECKHE JTHMYHOCTH;
BBIJIAIOIIMECS TPEACTABUTENN HAYKH M KYJIbTYphl). DTO JOCTUIAETCS IyTEM H3Y4EHHUS MaTepuajoB
MPECcChl, MyOIUIMCTUYECKUX U XYHIOKECTBEHHBIX TEKCTOB, KHHO(PWIBMOB, paJHo- W TeJerepenad,
IIPOM3BEJCHUN HCKYCCTBAa CTpPaHbl H3Y4aeMOIro sI3blKa, C IOMOILIBIO JIMHTBOCTPAHOBEIYECKUX
KOMMEHTapHeB K TEKCTaM Y4eOHBIX IMOCOOMI, KHUTaM IO JOMAIIHEMY YTEHHUIO, a TaKXKe TOJIKOBAHHUS
0€33KBUBAJICHTHOM JIEKCUKH.

KommyHuKaTuBHEIE chepbl 00yueHus

[Ton KOMMYHUKaTUBHOU cepoil 00ydeHHs OHUMAETCS MUCKYCCTBEHHO CO3/JaHHAs CUTYalus
OOIIEeHUs,, UMUTHPYIOUIAasi COOTBETCTBYIOIIYI0 KOMMYHUKAaTHBHYIO Cepy B YCIOBHUSX HWHOS3BIYHOTO
OKpYKEHMsI MJIM CO3Jalolasi MPEeANOChUIKM MEXIMYHOCTHOIO OOILIEHHS B YCIOBUSAX ayAUTOPHBIX
3HaHUMU.

OCHOBHBIMH KOMMYHHMKAaTUBHBIMU cepamu B mpouecce OOyueHHs MHOCTPAHHOMY SI3BIKY
aBisitoTes: 1) ydueOHO-mpodeccuoHanbHas, 2) CONHAIbHO-KYJABTYpHas, 3) OOIIECTBEHHO-
nojguTHYeckasi, 4) npodeccuoHanbHasl.

OOyuenne B ydeOHO-mpodeccroHAbEHON cdepe mpemiaraeT MmpeabsBiIcHHE 00ydaromeMycs
A3BIKOBOTO MaTepHaia (Ie4aTHOro, 3BYYAlllero), CBSA3aHHOIO C MOBCEAHEBHOM XKM3HbIO, yueOOW H
npodeccueit odydaromerocs, a Takke maTepuaia 0011e00pa3oBaTEIHLHOTO, MOJUTOJIOIHYECKOTO M
CTPaHOBEUECKOr0 XapakTepa O CTpaHax H3ydaemoro ss3blka. OOyueHHe B 3TOH cdepe BKIHOYAET
YTeHHE W ayJUPOBAHHE TPEABSBISEMOrO SI3bIKOBOTO MaTepHaia, BBICTYIUICHHE C COOOIIEHHEM W
BeZieHHe Oecelbl Ha 00I1e00pa30BaTENIbHYI0, CTPAHOBEIUYECKYI0 U IMOJUTOJIOIMYECKYIO TEeMY,
HamucaHWe  U3JI0KEHUH, COYMHEHHWI, pe3loMe [0 MaTepuaisam  oOiieo0pa3oBaTeabHOM,
CTpaHOBEAUECKON U OBITOBOM TEMAaTHUKHU, OTBETHI HA KOHTPOJIBbHOI padoTe.

OOyyeHre B COUMANbHO-KYJIBTYPHOU cdepe mpenanonaraeT NpeabsBiIeHHE O0ydarolemMycs
XYA0)KECTBEHHBIX M IyOJIMIIMCTUYECKUX TPOU3BENEHHUH, Ta3eTHBIX M JKypHAJIbHBIX CTaTel 1o
COIMAIGHBIM TpOo0JIeMaM M MO BOINpPOCaM KyJAbTYPHOW J>KM3HM B POJHOW CTpaHe M B CTpaHe
M3y4aeMOoro sI3blKa, XYJI0’KECTBEHHBIX M JOKYMEHTAJIbHBIX KHHO(QHIBMOB, Paguo- M Telemnepenad.
OOyuenue B 3TOHM cepe BKIIOYAET YTEHHE MyOIMIIMCTUYECKUX MPOU3BEIEHHM, Ta3eT U JKypHaJoB,
MPOCIyIIUBaHUE paguorepesad U GoHo3anucei, NpocMoTp KUHO(MMIBMOB U TeJlenepeaay, 001eHne u
BBICTYIUICHHS C JIOKJIaJaMH, Y9acTHE B IHCKYCCHH Ha COIMAIBHO-KYJIbTYpPHBIC TEMBI, HAIMCAHHE
pedepaToB, COUMHEHHI U aHHOTAIUH.

OOyyeHnne B OOIIECTBEHHO-NIOJIUTUYECKOW  cdepe  mpeamnonaraeT  MpeabsBICHHUE
o0yyaromemMycss MaTepuajgoB OOIIECTBEHHO-TIOJIUTUYECKON TEMAaTUKU: Ta3eTHBIX U JKypHAJIbHBIX
cTatei, KHUT U MOHorpaduil (M / WM U3BIEYEHUH U3 HUX) MO BOMNpPOCAM BHEUIHEW W BHYTpEHHEH
MOJIUTUKHU POJHOM CTpaHbl U CTPaHbl U3y4aeMOTO SI3bIKA, BBHICTYIUICHHMH BHUIHBIX OOILIECTBEHHBIX U
rOCy/IapCTBEHHBIX JesTeNell, MaTepuanoB pador obydaromuxcs. O0ydyeHre B 3Toi cdepe BKIHOYAET
YTeHHe W/ WM MPOCIyIIMBaHUE IIEPEUUCICHHBIX MaTepHalioB, OOIleHHe Ha OOIIEeCTBEHHO-
MOJUTHYECKHE TEMBI, B TOM YHCIE BBICTYIUIGHHE C COOOIICHWEM, ydJacTHe B JHUCKYCCHH, B




KOH(epeHnu, nepeBo (YCTHBIM M NMHUCHbMEHHBIN), pedeprupoBaHUE U aHHOTUPOBAHWE MaTEpUATIOB
0O0IIIECTBEHHO-TIOJINTHIECKON TEMATUKH.

OO6yuenue B mpodeccuoHabHOW cdepe mpeanosaraet MpeabsIBICHUE O0ydYaroImeMycs
CIELUANBHBIX MaTepHAJIOB, OTPAXKAIOIIMX CIEHUPHUKY MPO(EecCHOHAIBHONW pabOTHI: Ta3eTHBIX H
KYPHAaJIBHBIX CTaTel y3KOW CICIHaN3alliK, HAyYHOH JINTepaTyphbl Ha U3y4aeMoM s3bike. O0ydeHue B
npodeccnoHabHOM cdepe BKIIOYACT YTEHHWE W TPOCIYIIMBAHWE CICIHATBHBIX MAaTEPHAJIOB,
BBINOJIHEHHUE TTEpPeBo/Ia (B TOM yuciie pe)epaTUBHOTO) MPEABIBICHHOTO MaTepualia, peepupoBaHie U
AHHOTHPOBAHHUE CTICIUAILHBIX MAaTEPUAJIOB, BEJICHUE 3aITUCH IIPH BHIOJIHEHUH MIEPEBO/IA.

Metoauyeckue yka3aHusi oOy4yawmumcs. [[1s  ycnemrHoro OCBOGHHUsSI  IPOTPaMMBI
MpeAyCMOTpPEeHa CHCTeMaTH4ecKas (peryispHas) padoTa IO BBINOJHECHHIO JOMAIHUX 3aJaHuil —
MPOCIYIIMBAaHUE AayAUO3aMUCed TEKCTOB U JMAJIOTOB, OTPA0OTKAa HABBIKOB IMPAaBUJIBLHOTO UYTEHUS U
pasroBopa B may3ajgbHON (GopMe (AMAIOrOB) BCJEHA 3a JTUKTOPOM; BBIMOJHEHHWEM BCEX MHChbMEHHBIX
3aJJaHUM, COTJIaCOBAaHUU TEKCTOB.

4.4. YyeOHO-MeTOAHYECKOE U MH(OPMALIMOHHOE
odecreyeHue NPOrpaMmbl

Barron’s, TOEFL IBT;

Check Your English Vocabulary for TOEFL, 4™ edition;

Cambridge Preparation for the TOEFL Test, 4™ edition;

English Vocabulary in Use, Upper-intermediate, Cambridge University Press;
Advanced Grammar in Use, Cambridge University Press;

Magazines, newspapers

Photocopiable materials



